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WIRT-1, AEEeh TEar
PART-I, MENTAL ABILITY

fadon: weR wmuleR 1 | 5 W T AT foan mn § o
T T 91 g2 € 39 Wearas fa% (?) 9 g9 T
2 | 2 e fed T 9R faeedl | 4w ®, 39 wifed )

1. 2,5 11,23, 47, ?
A) 77 B) 97
(C) 95 D) 85

2. 3,15, 4, 16,5, 17,6, 2,7
(A) 12 B) 13
(C) 15 (D) 18

3. 2, 6, 12, 20, 30, ?

(A) 46 (B) 48

(C) 42 (D) 40
4. 68, 81, 96, 7, 132

(A) 105 B) 110

©) 113 (D) 130

5. 1,1,6,6, 11, 11, 16, ?, ?
(A) 16, 21 (B)
() 17, 21 (D)

13, 1
21, 16

9T : wg wHTE 6-10 ¥ &8 T y&F W F @rent
wH A & yaEs faw faan mn g, f@ ™ =R
fomedl ¥ ¥ T fashey o€t Gy quiar € S f fa=
11 % T IR @ T s1arl & wem ® wEl fashew g

6.  HEA : HE 2 YA : ?
(A) z@m B) Sufer=i
(C) & (D) W =t Inferi

Directions: In question nos 1 to 5 there is a number
series with one term missing shown by Question mark
(?) This term is one of the alternative given. Choose
that number.
1. 2,5, 11, 23, 47, ?

A) 77 B) 97

(C) 95 (D) 85

2. 3,15, 4,16,5,17,6, 2, 7
(A) 12 B) 13
(C) 15 (D) 18

3. 2,6 12, 20, 30, ?
(A) 46 (B) 48
(C) 42 D) 40

4. 68, 81, 96, 2, 132
(A) 105 B) 110
€ 13 D) 130

5. 1,1,6,6, 11, 11, 16, ?, ?
(A) 16, 21 B) 13, 1
() 17, 21 D) 21,16

Directions: In Question no. 6-10, there is a
question mark in the blank space and it is only one of
the four alternatives given under the question which
satisfies the same relation as is found between the
two patterns to the left of the sign :: given in the
question. Find the correct alternative.

6. Elbow : wrist :: knee : ?
(A) Ankle (B) Fingers

(C) Foot (D) Toes
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7.

10.

11.

12.

13.

14.

S : 92 1 T9F ;2
(A) AR
€ =

B) A
(D) faam

A : IR :: ASH ¢ ?
(A) &= (B) 3
(C) "R (D) s

BVSC:YEHX:: MRCP:?

(A) NJXK (B) LKXM
(C) NIXK (D) DIYM
211 : 333 ::356 : ?

(A) 358 B) 359
(C) 423 (D) 388

At At Al 3 & fad # uewEe G R
3TSTT T AN % WY T Ty §?

A) ®) ==
©) = D)

g T | 9t T 1 WY, G a9 g @ s
B | GO Tiar @ B} 399 el B e ]2
(A) € (B) g
(C) (D) T

gfg 5 Tad Waar a1 91 39 1 ¥ fahaq 9Har
g2

(A) 3
©) s

B) 4
(D) IS HE T

1fd <31 1 9 B 1 <A 9 & 9 © | famd

=1 o T © 3ifa faga w1 =1 82
(A) g B) <=
(C) Wi (D) =m=n
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10.

11.

12.

13.

14.

Food : stomach :: fuel ;: ?

(A) Automobile (B) Engine
(C) Truck (D) Plane
Wine : grapes :: vodka : ?

(A) Apples (B) Potatoes
(C) Oranges (D) Flour

BVSC:YEHX:: MRCP:?

(A) NIXK (B) LKXM
(C) NIXK (D) DIYM
211 : 333 ::356 : ?

(A) 358 B) 359
(C) 423 (D) 388

Sunita’s mother is the only daughter of Ajay’s
father. What is the relation of Ajay with Sunita?

(A) Brother (B) Paternal uncle
(C) Matermaluncle (D) Father

Seema is older than Geeta, Ramesh is younger
than Seema and Sujata. Sujata is younger than
Geeta. Who is youngest among all?

(A) Seema (B) Sujata
(C) Geeta (D) Ramesh

If the 5™ February was Sunday how many
Mondays were there in that month?

A) 3 ®) 4
(C) 5 (D) None of these

Amit is Daya’s brother. Daya is the son of
Chandra. Vimal is the father of Chandra then

how is Amit related to Vimal?
(A) Grandson (B) Grandfather
(C) Brother (D) Uncle



16.

17.

18.

19.

20.

IR TS HHaR 1 Tt 61 el & e s @
feq gm?

(A) g¥eR
(€) TEaR

(B) vfHaR

(D) HTER

freferfaa ® & 99 91 18R 998 37 9el 9
fi=r 872

(A) SUT
(C) BOC

(B) XAZ
D) MIN

35 BTEI 1 Teh dfed | sl o1 WRY T 1291 ®IH
AT F ST Y 25 H | A WA &
o9 fra s €2

(A) I (0)(®K &) (B) 1

) 3 D) 2

e d g a9 gl @ i 22

(A) freRr (B) =t

(C) =gl (D) dfom

fra wR @ TEdl, gOU iR fEU TR S
wiqafirar =i fean s gehdr 872

(A) 30 (B) 60

(C) 45 (D) 125

Fr A A T 10 Wz TeR 2, f 7w A
3R Tt 3 HIE Fewdt § | TA: Sfel 3R gt

14 IE Sord! § 379 98 A ¥ feRalt X @72
(A) 27 w2 (B) 24 %I
(C) 5w (D) 4 @l
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15.

16.

17.

18.

19.

20.

If today is Monday. After 61 days it will
be -

(A) Wednesday
(C) Thursday

(B) Saturday
(D) Tuesday

Which of the following letter-group is different
from other groups?

(A) SUT
(C) BOC

B) XAZ
D) MIN

In a row of 35 students the place of Bobby is
12" from the beginning. The place of Ratan is
25" from the end. How many students are
there between Bobby and Ratan?

(A) Zero(None) (B) 1
<€ 3 D) 2

Whichofthe following does not belong to others?
(B) Violin

(D) Harp

(A) Guitar
(C) Flute

The number of ways in which first, second &
third Prizes can be given to S competitors.

(A) 30 B) 60
(C) 45 D) 125

Kavita walks from A in the East 10 feet. Then
she turns towards right and walks 3 feet. Again
she turns towards right and walks 14 feet. How

far is she from A now?
(A) 27 feet
(C) 5Sfeet

(B) 24 feet
(D) 4 feet
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